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1. Ans
Wer the following as directed : 1x8=8

(@) H :
v:“f is price elasticity related to 2
Itical strajght line demand curve?

(b)

If

wiﬁ farmer grows rice and wheat, how

- an increase in the price of wheat
€Ct the supply curve of rice?

© w
: dhy does the budget line slope
Wnward?

(G s
a:l t. is the impact of diminishing
slo 8nal rate of substitution on the
3 Pe of indifference curve?
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(2)

(e) What wil happen to MP, when TP

increases at an increasing rate?
() MP will faq

(@) MP will rige

(i) MP attains maximum

(iv) MP remaing constant

(Choose the correct option)

general shapes of the TP ;
Curves? |
() Dowmward sloping : f
(@) Upward sioping !
(iti) U-shaped |
(iv) Inversely (.

What are the
AP and Mp

shaped
(Choose the correct option) |

(g) AvVc curves gannoet touch

v

Tt}e.average cost is constant gnq at its :

hefbuowfﬂi,ﬂ

8 each) :
Sticj of demanq

rence eyrye

T ;
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(&
(3)

(c) Price consumption curve o
(d) Marginal rate of technical substitution

i scale
(e) Difference between economies of
and economies of scope

| Answer the following questions (within 500 words
| each) :

3. (@ What g microeconornics?.E"‘plaisn .the
following using suitable dlagr‘?‘gl+ 3+3+4=12

) Microstatics
() Microcomparative statics
() Microdynamics

Or

@M Examine the role of assumptions in .
model-building. .

(%) The ratio of elasticity of s:uppl.yl.g
commodities A and B is 1l: lts.
20 percent fall in price of A resul
in a 40 percent fall in its supply.
Calculate the percentage increase
in supply of B if its price rises f.rom ;

10 per unit to 11 per unit.

EIXPlain the law of equimarginal utility.

°W does it explain consum‘;r;;u
equlhbrlum?

(b)

Or

Dis.tinguish between cardinal utility and
'dinal  utility. Which of them 5e11
SUperiorp Give reasons. 6

(b)
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S. (a)

(b)

6. (a)
(b)
7. (a)
(b)
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(4 )

With the help of indifference curve
analysis, derive the demand_curve f(()ir
() a normal good and (i) a Giffen g00+-5=1!
Explain their shapes. 6

Or

What is an income consumption curve?
How is Engel curve derived from incom‘;
consumption curve in case O

=)
() necessaries and (i) luxuries? 3+4+4

(i) State and explain the Jaw of f
variable proportions.
(i) Discuss the conditions for Jeast |
cost combination of inputs,
Or
(i) Define Production function. Also
discuss the types and yges ofg?’f
Production function. 2+2%
(@ Discuss the facops Contributing t0 ¢
INcreasing returns to Scale.
Discysg With  suitable dlagrams, th.e
short-ryp Cost  curveg and thell
lntErrelationships.
Or
Define lon

: 8-run average LAC)-
How is ty © cost j
of s.horti3 SAC curve derived from a s

: average
AISO dlSCuSS g

diseconomi

e an
€S scale
of the LA deter

. e 1
a
C curye Mine the shaP il
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1. Choose

following .

(@) Sociolg
Latin

P9/134

- Jor the questions

the

the
correct from

1x8=8

answer

& has been derived from the

word ‘Sociys’ and the Greek word
Eos: Which mean

( Turn Over )



